

### Exercice 1

Compléter les pointillés pour développer les expressions.

1.  $A = (2x + 3)(4 + 7x)$

.....	.....
.....	
.....	

$$A = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$

2.  $B = (5x + 2)(-4 + x)$

.....	.....
.....	
.....	

$$B = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$

3.  $C = (2x - 3)(-4 + 7x)$

.....	.....
.....	
.....	

$$C = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$

### Exercice 1

Compléter les pointillés pour développer les expressions.

1.  $A = (2x + 3)(4 + 7x)$

.....	.....
.....	
.....	

$$A = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$

2.  $B = (5x + 2)(-4 + x)$

.....	.....
.....	
.....	

$$B = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$

3.  $C = (2x - 3)(-4 + 7x)$

.....	.....
.....	
.....	

$$C = \dots \times \dots + \dots \times \dots + \dots \times \dots + \dots \times \dots$$